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#include <stdio.h>
#include <string.h>
#include <sys/types.h>
#include <sys/socket.h>
#include <netinet/in.h>
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#include <arpa/inet.h>
int main(int argc, char xargv|[])

{

struct sockaddr_in server;

char message[80], ip-address[16];

int fd;

strepy (ip-address ,argv [1]); // 000 J/pPO0OO0ODODOD
fd=socket (PF.INET, SOCKSTREAM, 0); //

memset ((char *) &server, 0, sizeof(server)); // 000000000000
server .sin_family=AF_INET;

server.sin_port = htons(5320);

server .sin_addr.s_addr=inet_addr (ip_-address);

connect (fd, (struct sockaddr x) &server, sizeof(server));

while (1){
printf(”message:”);
fgets (message, 80, stdin);
send (fd , message, strlen (message),0);
if (strncmp (message ,” bye” ,3)==0)break;

close (fd);

return 0;

000 2z200000000000000O00O00

#include <stdio.h>
#include <stdlib .h>
#include <string.h>
#include <sys/types.h>
#include <sys/socket.h>
#include <sys/socket.h>
#include <netinet/in.h>
#include <sys/wait.h>
#include <arpa/inet.h>
#include <unistd.h>
#include <signal .h>
#include <netdb.h>

#define PORT 5320
void kill_zombie (int sig);

void close_process(int unused);
char #showip(char *ip_address);

//

// main O 0O
//

int main(void)
{

struct sockaddr_in client , server;
struct hostent xserver_host;

int fds, fda, length;

pid_-t pid;

char host_name [257];




int temp;

//— 000000000000 ——

bzero (host_name ,257);

gethostname (host_.name ,256); // 00000000
server_host = gethostbyname (host_name); // 000000000
printf (”\n———— informations of server ————— —\n”);
printf(”Host name:%s\n” ,host_name); // 0o0o0o0oooao
printf (”IP= %s\n” ,showip (server_host —>h_addr)); // IPO0O0OO0OODOO
printf(”\n\n”);

fds=socket (PFINET, SOCKSTREAM, 0); // 000000
memset ((char *) &server, 0, sizeof(server)); // 000000

server.sin_family=AF_INET;

server .sin_addr.s_addr = inet_addr (showip(server_host—>h_addr));
server.sin_port = htons(PORT);

bind (fds, (struct sockaddr *) &server, sizeof(server)); // 0000 0OO0O0O

listen (fds, 5);

length=sizeof(client );

signal (SIGINT, close_process); // [Ctrl]J+c0 00000
signal (SIGCHLD, kill_zombie); // 0o0o0ooooao
while (1){ // 00000
fda=accept (fds, (struct sockaddr *) &client , &length);
pid=fork ();
if (pid==0){ )/——— Dnpopoog —m
char read_str [80]; // 00o0o0o0oooao
close (fds); // 0000o0Doo0ooo
while (1){ // 00000
memset (read_str, ’\0’, sizeof(read_str)); // 0o0oooooooonNoe’Doogan
recv(fda, read_str, 80, 0); Oo0oo0oo0oao
printf ("%s> ” ,showip ((char *)&client .sin_addr)); // 000000000 D0O0OO
printf(?%s” ,read_str); // 000000000
if (strncmp (read_str ,”bye” ,3)==0)break; // 7bye’0 00 0000OO0DO
}
close (fda); // 000000 0ooooooo0oao
exit (0); // 0000000
telse{ //———— oooog —m——
close (fda); // 000000 0ooooooooao
}
}
return 0;
}
//

// 00o00o0o oo0o0ao
// http://hp.vector.co.jp/authors/VA003991/kouza/senior/kouza_-socket.html
//

void kill_zombie (int sig){
while (waitpid (—1,NULL,WNOHANG) >0);
signal (SIGCHLD, kill_zombie);
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%[cmHCDDDDDDDDDD 000000
//

void close_process(int unused){
exit (0);

// IPO00DDO0OOOOOOOD
//

char #showip(char xip_address)

{

static char ip[7]; // 000000000 o0DoDoooao
char ipnum [4];

bcopy (ip-address , ipnum, 4);
sprintf (ip,”%u.%u.%u.%u” , // %uw:0 0001000
(unsigned char)ipnum [0],
(unsigned char)ipnum/[1],
(unsigned char)ipnum [2],
(unsigned char)ipnum [3]);

return ip;
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#include <stdio.h>

#include <stdlib.h> // exit() OO O0O0O
#include <sys/types.h> // fork()ODODOODO
#include <unistd.h> // fork(O OO ODODO

int main(void)

{
int pid;
int i=8, j=3;
pid=fork();
if (pid==0){ /] —==—-—— 00000 ---————mmmmm
printf("child process\n");
printf ("i+j=%d\n",i+j);
exit(0);
Yelse{ /] —————— [ ——
printf ("parent process\n");
printf ("i-j=%d\n",i-j);
}
return O;
}

child process
i+j=11

parent process
i-j=5
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